EXAMPLE Beef Heifers Oral Reasons Template - Clovers
I placed this class of Ungus Feifers heifers | - 2 _ 3 _ 4

(Class Name) (Animal #) (Animal #) (Animal #) (Animal #)
TOP PAIR REASONS
| placed 7 over 2 in the top pair because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #) (Animal #)

| More Structurally Correct | | Higher Volumed|  Nicer Balanced Heavier Muscled Faster Growing More Feminine
1 had white on fier udder, 1 had a bigger foot than 2, 1 was highest valume feifer in class

| grant that 2 Was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #)

More Structurally Correct Higher Volumed Nicer Balanced Heavier Muscled Faster Growing
2 had smaother shoulders than 1

But | faulted 2 because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)

(Animal #)
Structurally Incorrect Low Volumed Unbalanced | Light Muscled | | Slow Growing | Unfeminine
2 was smaller than 1
MIDDLE PAIR REASONS
| placed 2 over 3 in the middle pair because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #) (Animal #)
More Structurally Correct | Higher Vo[umedl | Nicer Balanced | Heavier Muscled Faster Growing
2 was leveler aver hen top than 3
| 8 rant that 3 Was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #)

More Structurally Correct Higher Volumed Nicer Balanced Heavier Muscled Faster Growing More Feminine
3 was thicker wumped than 2

But | faulted 3 because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)

(Animal #)
Structurally Incorrect Low Volumed Unbalanced Light Muscled Slow Growing
3 fiad a shont neck
BOTTOM PAIR REASONS
| placed 3 over 4 in the bottom pair because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #) (Animal #)
| More Structurally Correct |~ Higher Volumed Nicer Balanced | Heavier Muscled | | Faster Growing | More Feminine

3 had a bigger tep and wunp than 4, 3 was bigger than 4

| grant that 4 WasS: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #)
More Structurally Correct Higher Volumed Nicer Balanced Heavier Muscled Faster Growing
4 had a lenger neck and face than 3
But | faulted 4 and placed her last because she was: (circle all the answers that describe your reasons or write your own reasons on the line below)
(Animal #)
| structurally Incorrect | Low Volumed Unbalanced | Light Muscled | | slow Growing | Unfeminine

4 was smallest heifer in class, 4 didn’t walk veny well




